
Casita

Made in Brazil.

August 2022.

20

Single Bed-Twin

Options



Made in Brazil.

August 2022.

20



Made in Brazil.

August 2022.

20

Single Twin Parts:

11

You will need a Phillips head screwdriver and a hammer

Philips screwdriver Hammer

Tools required

3

3

13
12

3
10

10

11

3

2

3

3

2

8

6

6

9

5

5

7

1

4

4

1

 MANUFACTURER  LABEL
DO  NOT  REMOVE !

14

1:30 h



26- wooden dowels 1 ⁹⁄��" 

(10 x 40mm) (A)

32- screws  (4 x 30mm) (G) 1 ³⁄��"

8  (H)- ¹⁄� Half Moon Nut

8- bolts  (1/4 x 90mm) (B)¹⁄�" x 3 ¹⁄�"

18- bolts (7 x 90mm) (C)3 ¹⁄�" 

4- bolts 2" (7 x 50mm) (E)7- bolts 7 x 80mm) (D)3 ¹⁄�" (

5- screws 2" (4 x 50mm) (F)

Identify the size and type of hardware using the illustration below:

1- allen wrench (I)



Step 1
Insert 16 wooden dowels (A) into the holes, as shown in the diagram.

Hammer

(4 PIECES)

(2 PIECES)

 A

Step 2
Headboard/Footboard
Attach parts 2 and 3  on to part (1) with 6 bolts (C), using 1 Allen wrench (I). 

 A
 A

 A

 A
 A

2

3

1 ⁹⁄��"Wooden Dowel 

Qty

16A

I

C

3

2

3

Qty

06C
Ø17 Ø7,0 x 903 ¹⁄�" Bolt

I+C
I+C

I+C
1

x2

ATTENTION:
HOLES FACING UP!

Allen
wrench

Qty

01I

 PLEASE ASSEMBLE
 ON THE GROUND



Step 3
Headboard/Footboard

Step 4
Back siderail 
Insert 4 wooden dowels (A) into the holes, as shown in the diagram. 

Attach parts 4 on to parts 2 and 3 with 6 bolts (C), using 1 Allen wrench (I). 

7

C+I

A

A

Qty

06C
Ø17 Ø7,0 x 903 ¹⁄�"  Bolt 

Hammer 1 ⁹⁄��"Wooden Dowel 

Qty

04A

I

C

4

C+I

C+I

3

3

2

x2

Allen
wrench

Qty

01I

8

A

A

 MANUFACTURER  LABEL
DO  NOT  REMOVE !

ATTENTION:
FOR HOLES !

ATTENTION:
HOLES FACING UP!

ATTENTION:
HOLES FACING UP!

 PLEASE ASSEMBLE
 ON THE GROUND



I

B

Step 5
Back siderail 
Attach part 7 on the Headboard/Footboard with 2 bolts (B)
and 2 Half Moons (H), using 1 Allen wrench (I).

7

1/4 x 90 Bolt
Qty

02B
Ø17 ¹⁄�" x 3 ¹⁄�" Bolt

H
Qty

02
¹⁄� 

Half Moon 
Nut

H

Important 2 people
for assembly

Allen
wrench

Qty

01I

 I+B

 I+B

 H

H

 MANUFACTURER  LABEL
DO  NOT  REMOVE !



Step 6
Headboard/Footboard
Attach Headboard/Footboard on to part 7 with 2 bolts (B) and 2 Half Moons (H), 
using 1 Allen wrench (I).

I

B

1/4 x 90 Bolt
Qty

02B
Ø17 ¹⁄�" x 3 ¹⁄�" Bolt

H
Qty

02
¹⁄� 

Half Moon 
Nut

 H
 H

 B+I

 B+I

7

INSERT AND
ATTACH BOLTS (B&H), 

BUT DO NOT TIGHTEN UNTIL
STEP #10

H

Allen
wrench

Qty

01I

Important 2 people
for assembly



Step 7
Front siderail 
Attach part 8 on the Footboard and Headboard with 4 bolts (B) 
and 4 Half Moons (H), using 1 Allen wrench (I).

1/4 x 90 Bolt
Qty

04B
Ø17 ¹⁄�" x 3 ¹⁄�" Bolt

H
Qty

04
¹⁄� 

Half Moon 
Nut

 B+I

 I+B

 I+B

 B+I

 H

 H

 H
 H

GENTLY
 M

OVE  T
HE

HEADBOARD AND FOOTBOARD

TO FIT THE S
ID

E R
AIL

H

I

B

Allen
wrench

Qty

01I

INSERT AND
ATTACH BOLTS (B&H), 

BUT DO NOT TIGHTEN UNTIL
STEP #10

Important 2 people
for assembly

Step 8
Back guardrails 
Insert 4 wooden dowels (A) into the holes, as shown in diagram.

5

5

Hammer 1 ⁹⁄��"Wooden Dowel 

Qty

04A
A

A

A
A

8



Step 9
Back guardrails 
Attach part 5 on the Headboard and Footboard with 2 bolts (C), 
using 1 Allen wrench (I). 

I

C

 I+C

Qty

02C
Ø17 Ø7,0 x 903 ¹⁄�" Bolt

INSERT AND

ATTACH BOLTS "C
’’, 

BUT DO NOT TIG
HTEN UNTIL

STEP #10

 C+I

5

GENTLY
 M

OVE THE

HEADBOARD AND FOOTBOARD

TO FIT THE SID
E R

AIL

Allen
wrench

Qty

01I

Important 2 people
for assembly

Step 10
Back guardrails 
Attach part 5 on the Headboard and Footboard with 2 bolts (C), 
using 1 Allen wrench (I). 

Important 2 people
for assembly

 C+I

 I+C

5

GENTLY
 M

OVE THE

HEADBOARD AND FOOTBOARD

TO FIT THE SID
E R

AIL

Qty

02C
Ø17 Ø7,0 x 903 ¹⁄�" Bolt

Allen
wrench

Qty

01I

I

C

AFTER ATTACHING,

TIG
HTEN ALL BOLTS

ON ENTIRE BED



Step 11
Front guardrail support 
Attach part 9 on the Front side rail  with 2 screws (E),
using 1 Allen wrench (I).

Qty

02E
Ø17 2" Bolt

7,0 x 50 Bolt

I

E
8

Allen
wrench

Qty

01I

9 I+E
 I+E

Step 12
Front guardrails 
Insert 2 wooden dowels (A) into the holes, as shown in the diagram.

6

A

A

6

Hammer 1 ⁹⁄��"Wooden Dowel 

Qty

02A



Step 13
Front guardrail 

3) Attach parts  on the part with 2 bolts ( ), using 1 Allen wrench 6 9 E (I).

2) Attach parts 6 on the Headboard or Footboard with 2 bolts (C), using 1 Allen wrench (I).

1) Please choose the right or left option before starting assembly.

Qty

02E
Ø17 2" Bolt

7,0 x 50 Bolt

Qty

02C
Ø17 Ø7,0 x 903 ¹⁄�" Bolt

 I+E

6

6

 I+E

 C+I

 C+I

 E+I
 E+I

6

6

9

8

 I+C

Allen
wrench

Qty

01I

 I+C

I

C / E

Step 1 Step 2

Right
Side

Left
Side

Step 14
Bed Slats

14

14

Step 1

Step 2

4,0 x 30 ScrewFL

1 ³⁄��" Screw

Qty

04G

Philips screwdriver

 G

8

9

6

6

9

1) Attached the rst slat to the end of the side rail base with 2 screws (G). 
2) After attaching the rst slat, open the slat set, leaving the tape stretched, until the last slat is aligned at the end 
of the side rail base. 
Attach to end of side rail base with other 2 screws (G), using 1 Philips Screwdriver.

 G

 G

 G

‘‘PLEASE INSTALL SLAT KIT WITH 
THE SPACER TAPE ON TOP

(FACING UP)’’

Attached the rst slat to the end of the side rail base. 
After attaching the rst slat, open the slat set, leaving 

the tape stretched, until the last slat is aligned 
at the end of the side rail base. 
Attach to end of side rail base.



Step 15
Bed Slats
1) Please note warping may occur because it is natural wood.To facilite the placement of the screws, you must press 
    the two siderails simultaneously. 

4,0 x 30 ScrewFL

1 ³⁄��" Screw

Qty

02G

IMPORTANT NOTE
Please note warping may occur because it is natural wood.

To facilite the placement of the screws, you must press
the two siderails simultaneously.

14

Philips screwdriver

 G

Step 16
Bed Slats
Attach the others slats with 20 screws (G), using 1 Philips screwdrive.

4,0 x 30 ScrewFL

1 ³⁄��" Screw

Qty

20G

14

 G
 G

 G
 G

 G

 G
 G

 G
 G

 G

 G
 G

 G
 G

 G

 G
 G

 G
 G

 G

Philips screwdriver

2) Attach the center slat with 2 screws (G), using 1 Philips screwdrive.

 G



Step 17
Support
Attach parts 10 on to parts 6 and 8 with 6 screws (G),   
using Philips screwdriver. 

 G

 G

 G

 G
6

6

8 10

10

4,0 x 30 ScrewFL

1 ³⁄��" Screw

Qty

06G
Philips screwdriver

 G

 G



OPTIONS TO ASSEMBLE THE ROOF STRUCTURE

Roof as the Headboard or the Footboard
For this set up follow Steps 18 -19 only.

OR with Roof on one of the sides
For this set up, skip ahead and follow Steps 20 - 21.



Roof (for Headboard/Footboard)
1) Attach part 12 on to part 13 with 1 bolt (D), using 1 Allen wrench (I).

I+D

Qty

01D
Ø17 3 ¹⁄�" Bolt

7,0 x 80 Bolt

13

12

Step 18

Allen
wrench

Qty

01I

I

D

Step 19
Headboard/Footboard Roof
Attach the Roof on the top of Headtboard or Footboard with 2 bolts (D), using 1 Allen wrench (I) 

 D+I

 I+D

13

12

OR

Left
roof

 D+I

 I+D

Right
roof

12

13

Left
roof

12
13

 I+D

 D+I

Right
roof

12

13

I

D

Qty

02D
Ø17 3 ¹⁄�" Bolt

7,0 x 80 Bolt

Allen
wrench

Qty

01I

 D+I

 I+D



I

D

D+I

F

12

11

13

Qty

01D
Ø17 3 ¹⁄�" Bolt

7,0 x 80 Bolt

Philips screwdriver

Allen
wrench

Qty

01I
FL

Qty

02F
 2" Screw 

4,0 x 50 Screw

1) Attach part 11 on to part 12 with 1 bolt (D), using 1 Allen wrench (I). 

2) Attach 2 screws (F) on to part 11 using Philips screwdriver.

Step 20
Roof support (for right back side )

13

11

12

I+D

F

1) Attach part 11 on to part 13 with 1 bolt (D), using 1 Allen wrench (I). 

2) Attach 2 screws (F) on to part 11 using Philips screwdriver.

Roof support (for left back side)

I

D

F

F

13

12

12

13



Back Roof 
1) Attach back roof to Headboard or Footboard with 1 bolt (D), using 1 Allen wrench (I)

2) Attach part 11 to parts 6 and 8 with 3 Screws (F), using Philips screwdriver.

Step 21

Qty

01D
Ø17 3 ¹⁄�" Bolt

7,0 x 80 Bolt

FL

Qty

03F
 2" Screw 

4,0 x 50 Screw

Philips screwdriver

Allen
wrench

Qty

01I

 D+I

 F
 F
 F

11 6

8
6

 F
 F
 F

 I+D

6

8

6

11

Left
back 
roof

 F
 F
 F

6

68

11

 I+D

Right
back
roof

Left
back 
roof

Right
back
roof

6

8

6

 F
 F
 F

11

 D+I






	Página 1
	Página 2
	Página 3
	Página 4
	Página 5
	Página 6
	Página 7
	Página 8
	Página 9
	Página 10
	Página 11
	Página 12
	Página 13
	Página 14
	Página 15
	Página 16
	Página 17
	Página 18
	Página 19
	Página 20

